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PART 1: TRUE /FALSE [10 points]
1. A population survey examines the representative sample of animals.
2. Replication increases the precision of estimates.
3. In negative control group, animals receive no active treatment.
4. A wide confidence interval indicates poor precision.
5. Significance level= (1 = B) X 100.
6. In two-tailed test, there are two critical regions in both sides of distribution.
7. Hartely’s F-max test = the minimum variance divided by the maximum variance.
8. Randomization is important to avoid systematic bias.
9. The level of significance is the probability of committing type I error.
10. A control is needed to provide some basis for comparison and guarantee the

reliability of the treatment.

PART 2: ' [15 points]
Using the following ANOVA tables, fill in the spaces below:

Source S df MS F  Foos too2s

Treatment 3640 2 1820 6.13 3.89 2.179
Residual 3560 12 296.67

Total 7200 14
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3. Confidence interval for TR1=
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